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Properties of Exponents

Simplify. Your answer should contain only positive exponents.
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CHMALENGE

More Properties of Exponents

Simplify. Your answer should contain only positive exponents.
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Writing in Scientific Notation

Write each number in scientific notation.

) 0.000006

3) 60

5) 6.7

7) 2000000

Write each number in standard notation.

9) . 0.9% 107

w108

13) 2.66 x 10*

15) 7.75x 107!

2) 5400000

4) 0.009

6) 0.0000002

8) 71x 10°

- 10) 2x 107!

12) 804 x 10

14) 1.5 x 107

16) 8.3 X% 10’
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Answer :

u) Simplify and express in scientific notation:
=, Example 1 Example 2
(1.2x 10% +(3.04 x 10°) (554 x 107 - (2.32x 107%)
= (1.2 10%) + (3.04 X 10°) x 10° = (554 x 107%) x 10> - (2.32x 107%)

= (1.2 % 109) + (3040 X 10?) = (554 x 10 - (232X 10

& = 30412 x 10° = 551.68%x 107

= 3.0412x 10° = 5.5168 X 10°°

Simplify each problem and express the answer in scientific notation.

M 4 7 2 -1

1) (23x10%) +(4.16 x 10') 2) (9.4x10%+(3.8x107)

Answer : Answer ;

3) (6.07%x107)~(4.52%107%) 4) (7.98x 107) - (1.24 x 10°)

|

Answer : Answer :

5) (5.692x 107" +(8.8%x107) 6) (4.6x109-(2x107)

=
Answer ; Answer :

7) (9.18 % 10°% - (3.9 x 10% 8) (1.7x10™) +(6.504 x 10%)

Answer :




@cientiﬁc Notation)

i

\) Simplify and express in scientific notation:

Example 1
(5% 10% (7 x 10%)
(5% 10% (7 x 10°)

I

35x 10°% 10°
35%x 10"
3.5%x 10"

i

Example 2
8

89:118_2 = %xm*’xm2

= 1.125%x10"

Simplify each problem and express the answer in scientific notation.

Answer ;

1) (2x10)(9%107) 2) 15 % 107
4%107
Answer ; Answer :
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16 x 107
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Simplify each problem and express the answer in scientific notation.

1)

3.2x10*
1.6 X 10°

Answer ;

| 2) (7.1%107%) +(5.02%x107)

Answer :

(4.8 x 10%) - (9.7 x 10%

4) (6.18%107) (8.7 x10%)

Answer : Answer :

- » 2.15x 107

5) (598%x10™) +(34x%x107) 6) —5><103
Answer: Answer ;

= 5 5.4 % 10%

7) (2.08x10™) (8.1 % 107) 8) T2x107
Answer: Answer :

(6.5 % 107) - (3.1 x 10%

Answer:

10) (1.98x107%) +(5.2%x 107

Answer :




Systems of Equations Word Problems

1) Find the value of two numbers if their sum is 12 and their difference is 4.

2) The difference of two numbers is 3, Their sum is 13, Find the numbers.

3) Flying to Kampala with a tailwind a plane averaged 158 km/h. On the return trip the plane only
averaged 112 km/h while flying back into the same wind. Find the speed of the wind and the speed of
the plane in still air.

4) The school that Stefan goes to is selling tickets to a choral performance. On the first day of ticket sales
the school sold 3 senior citizen tickets and 1 child ticket for a total of $38. The school took in $52 on
the second day by selling 3 senior citizen tickets and 2 child tickets. Find the price of a senior citizen
ticket and the price of a child ticket.

5) The sum of the digits of a certain two-digit number is 7. Reversing its digits increases the number by 9.
What is the number?

6) A boat traveled 210 miles downstream and back. The trip downstream took 10 hours. The trip back
took 70 hours. What is the speed of the boat in still water? What is the speed of the current?




7) The state fair is a popular field trip destination. This year the senior class at High School A and the
senior class at High School B both planned trips there. The senior class at High School A rented and
filled 8 vans and 8 buses with 240 students, High School B rented and filled 4 vans and 1 bus with 54
students. Every van had the same number of students in it as did the buses. Find the number of students
in each van and in each bus.

8) The senior classes at High School A and High School B planned separate trips to New York City. The
senior class at High School A rented and filled 1 van and 6 buses with 372 students. High School B
rented and filled 4 vans and 12 buses with 780 students. Each van and each bus carried the same
number of students. How many students can a van carry? How many students can a bus carry?

9) Brenda's school is selling tickets to a spring musical. On the first day of ticket sales the school sold 3
senior citizen tickets and 9 child tickets for a total of $75. The school took in $67 on the second day by
selling 8 senior citizen tickets and 5 child tickets, What is the price each of one senior citizen ticket and
one child ticket?

10) Matt and Ming are selling fruit for a school fundraiser. Customers can buy small boxes of oranges and
large boxes of oranges. Matt sold 3 small boxes of oranges and 14 large boxes of oranges for a total of
$203. Ming sold 11 small boxes of oranges and 11 large boxes of oranges for a total of $220. Find the
cost each of one small box of oranges and one large box of oranges.

11) A boat traveled 336 miles downstream and back. The trip downstream took 12 hours. The trip back
took 14 hours, What is the speed of the boat in still water? What is the speed of the current?




Finding Slope From a Graph

Find the slope of each line.
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Finding Slope From Two Points

Find the slope of the line through each pair of points.

D (19, -16), (-7, -15) 2) (1, -19), (-2, -7)
3) (~4,7), (~6,-4) 4) (20, 8), (9, 16)
5y (17, -13), (17, 8) 6) (19, 3), (20, 3)
7 (3,0), (-11, -15) 8) (19,-2), (-11, 10)




9) (6,-10), (-15, 15)

11) (3, -20), (5, 8)

13) (-19, 12), (-9, 1)

15) (6,-12), (15, =3)

10y (12,-18), (~15, -18)

12) (15, 8), (-17,9)

14) (12,2), (-7, 5)

16) (9, 3), (19, -17)




Finding Slope From an Equation

Find the slope of each line.

5
) y=—=x-5
) ) 2x

3) y==—x+3

5) 2x—y=1

7) 8x+3y=-9

9) x—y=-2

4) y=—4x-1

6) x+2y=-38

8) 4x+5y=-10

10) 4x—3y=9




11) 3x+2y=6

13) y=-1

15) =2y-10+2x=0

17) 3x+20=—4y

19) ~1=-2x+y

21) 0=5y—x

12) 4x-5y=0

14) x+5y=-15

16) x+5+y=0

18) =15 —x=-5y

20) =x—-1=y

22) =30 + 10y =—2x




Graphing Lines

Sketch the graph of each line.
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Writing Linear Equations

Write the slope-intercept form of the equation of each line.

1) 3x—-2y=-16 2) 13x-11y=-12

3) x-Ty=-7 4) x=3y=6

5) 6x+5y=-15 6) dx—-y=1

7) 11x-4y=32 8) 11x—-8y=-48
Ax+by=C

Whrite the standard form of the equation of the line through the given point with the given slope.

9) through: (1, 2), slope =7 10) through: (3, —1), slope =—1

11) through: (-2, 5), slope = —4 >
) through: ( ), slope 12) through: (3, 5), 810P6=5




13) through: (2, —4), slope =1 14) through: (2, 5), slope = undefined

1 16) through: (-1,2), sl =2
15) through: (3, 1), slopezz ) throug ( ) siope

SO~
Write the i%form of the equation of the line described.

3 7
17) through: (4,2), parallel to y = —Zx -5 18) through: (=3, —3), parallel to y = Ex +3

3 20) through: (-1, 4), llelto y==5x+2
19) through: (-4, 0), parallel to y=zx—-2 ) through: ). parallel to y *

22) through: (4, ~4), parallel to y =—x -4

1
21) through: (2, O), parallel to y = Ex +3

. 5 1
23) through: (=2, 4), parallel to y = —E 5 24) through: (—4, —1), parallel to y = —5F - 1

20




